BEDROOM WINDOW EGRESS
HEIGHT AND WIDTH REQUIREMENTS (in inches)
TO MEET THE 5.7 SQ. FT. OPENING REQUIREMENT
width:| 20| 20.5] 21| 21.5| 22| 22.5( 23| 23.5| 24| 245 25 255 26| 265 27| 275

Height: 41 40 39 38 37| 36.5| 35.5 35 34| 33.5 33 32] 315 31] 305 30
Total Sg. Ft. Opening=| 5.7 5.7 5.7| 5.7 5.7| 57| 57| 57| 57| 57| 57 57 57 57 57 57

Width: 28| 28.5 29| 29.5 30| 30.5 31| 31.5 32| 325 33| 33.5 34
Height:| 29.5 29[ 285 28| 275 27| 26.5 26 25.5| 252 25| 245 24
Total Sq. Ft. Opening=| 5.7 5.7| 5.7 5.7 57| 57 57 57 57 57 57 57 57

For example, to achieve a 5'7" Sq. Ft. Opening:

If you have a window with an "open" width of 24", then the minimum "open" height would have to be 34"
OR,

If you have a window with an "open" height of 34", then the minimum "open" width would have to be 24"

BEDROOM WINDOW EGRESS
HEIGHT AND WIDTH REQUIREMENTS (in inches)
TO MEET THE 5.0 SQ. FT. OPENING REQUIREMENT
width:| 20| 20.5] 21| 21.5| 22| 225( 23| 23.5| 24| 245 25 255 26| 26.5| 27| 275

Height: 36 35 34| 33.5 33 32 31| 30.5 30| 29.5 29| 28.5| 275 27| 26.5 26
Total Sg. Ft. Opening=| 5.0/ 5.0/ 5.0/ 5.0/ 5.0/ 5.0/ 5.0| 5.0 50| 50 50 50 50 504 50 50

Width: 28| 28.5 29| 29.5 30
Height:[ 25.5| 25.5 25| 245 24
Total Sq. Ft. Opening=| 5.0/ 5.0/ 5.0 5.0f 5.0

For example, to achieve a 5'0" Sq. Ft. Opening:

If you have a window with an "open" width of 20", then the minimum "open" height would be 36"
OR,

If you have a window with an "open" height of 36", then the minimum "open" width would be 20"




